1 ofoin| £5- - 2

HISABIH £8 - Y=E @12, 316, 320, @25, @32 @40, @50, @63, @80, @100, #3125

YC(DJQW [2A](12]-[25] [DM][A94K]
@ @ Q@ ® 6 ® @

@ OIaHE @ M2l #E AER3
F7|2 ¢ Kb HILHE WaE: 012 @16
D Xt LIEE - 5,10, 15, 20, 25, 30
g . 320, 325
@ ELEAJQF - 5,10, 15, 20, 25, 30, 35, 40, 45, 50
oA BE QTIEN(EEH) L @32, 340, @50, 363, @80, 3100, B125
B HEAHH(BES) — 5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
EHL|A ® LIAFHEN
D: 2C QLA

12 1 AEH LHE 12mm
16 : AZIE LHZ 16mm
20 @ AlZIE LHE 20mm

DM : 2E LLIA}L

25 : AMRIE] L 25mm ©® LEASIR|

32 : A2 LA 32mm AQAK : QEASIR| BEf
40 1AM LHZ 40mm

50 : A2IH L4 50mm @ LEAQIX| £7|5
63 : AZIE i 63mm oS - Hxb

80 : 4121} LiZ 80mm A

100 : jélan_“:'l LHjo:‘ 100mm N: N7H _g?_;_‘!.

125 : &2iH g 125mm

o|x| =X =
* QEALIX| EH & 7|ErHY HI=F
=1 a5 SolTf Ab ALk B | "
D-A94K oxF . 030 +8d O=HE
N DC5V ~ Al vV 4 5HA = Afo]
D—AQ4K—-V/ (Z)IKJM) _J'k_&!% azZHE YC(D)QW Hl'l_'l"7—| S A]I‘”Ol)\‘ie (==
D—A94X FEH 2MAl DC24v
2M | ED 0il) YCDQW2A 40-55 DM—AQ94K
D-A94X-N SHHE 344 DC24V NPN REHEAS — 7BAE2T BEZ0| AH|0JA 20mm Ak
D-A94X—P S 3MA DC24V PNP

X QEAX| IZHE : D-AMK : 1M, D-AYMK-L3 : 3V, D-AMK-L5 : 5M

166 YPC



ua woiszn 55 92= YCQW

* M E ALY

RHA 25 gzc
ﬂ,ﬂ# AgSA 2719 2 71
= #____’:’ EMAE U 0.05MPa(0.5 kgf/cm?)
— ERITIE 1.0MPa(10 ki/em?)
‘ =23 1.5MPa(15 kgf/cm?)
- 3 M g2
" L] =g
A8 OAE & 50 ~ 750 mm/s
o HABRA 2= 5~ 60°C (41~ 140°F)
3 % PSR (SFA1S0 VE32#)

.

>
r

HA

o LWEE

=5 gz

Xt HILHE

| J

-

6— @

o a— ® @

@7

o FHRE

HS Bz Wz H|T Hs = =H FEm
@ LIS yznls B2 ZA gznt0|E ©) g12 d2H YCQW-12-PS

® 2c yz0js 812 # wznjole ) @16 Al2iC] YCQW-16-PS

® =4 @ @20 N | YCQW-20-PS

g ;O;R:,g. NE:R @ P25 MBIE | YCQW-25-PS

B u|;5 ;5 e Bp—— ® @32 Mzl YCQW-32-PS A
o e - S0 ® @40 MR | YCQW-40-PS 2o
TAE 1 NER @ | osoARid | voawso-ps | == MmE
(©) opay RUBBER @63 Azl YCQW—-63-PS

© HEY Ea ©) 380 AEH YCQW-80-PS

® 25 A% 2E EA © @100 A2H YCQW-100-PS

i feg i NER ® @125 A2IH | YCQW—125-PS

www.ypc.co.kr 167



* 9IF 314

> 712 (X HILHEE, LI
YCQW 2A-@12, 316, 320, @25-D

HDPC Q_ Q 2—P(PT)
)
U,
= A O
~ [ sl sj R &
m) /)
\EJ jal -‘I N L B+Stroke L+Stroke
K A+2(Stroke)
M 4-@N Hole
= 8-00
Tt Tap Dimension
ol
Eo A of R G 3y
N @12 | M4x07 | 10 4 65
S E 48 @16 | M4x07 | 10 4 65
L 1 [ @20 | M6x10 | 17 7 9
i 1S 025 | Mex10 | 17 | 7 9
R R
B+Stroke
YCQW 2A-@32, @40, 350, @63, @80, @100, @125-D
HDPC Q Q. 2-P(PT)
L N
N4
NEN S Fan ~
\J \J “Q
L B+Stroke L+Stroke
4-@N Hole A+2(Stroke)
8-00
QT Tap Dimension
EEE ] R g 3y
032 | M6x10 | 17 7 9
240 | M6x10 | 17 7 9
3 a 250 | M8
3 - - -3 X125 | 22 8 1
@63 | MIOx15 | 285 | 105 | 14
] @80 | MIOx15 | 35 | 185 | 175
R R @100 | Mi2x175 | 355 | 135 | 175
B+Stroke @15 | Midx2 | 434 | 184 | 212
4 i
FEUE | AERIER |, g | | g H clJd |k |L|M]|N 0 P a | z
(mm) (mm)
o1 g | 22[22| 6 |25 | wex05 [ 6 [ - [ 5 [35[165]385 [ 650P4 | M6x08 | 75| -
216 3B | 26 | 8 | 29| Max07 | 8 | - | 6 | 35| 20 | 35 | 65DP4 | M5x08 | 8 | -
220 6o | 3 |2 | 0|3 | M6x08 | 7 | - |8 |45 |255] 55| 90P7 | M6x08 | 8 | -
925 30 | 29| 12 | 40| M6x10 | 2 | — | 10| 5 | 28 | 55 | 9DP7 | M5x08 | 95| —
232 oo |245[305] 16 | 46 | MBxi25 | 13 [45 [ [ 7 [34[65] 90P7 1/8 99 | 1
940 54 | 40 | 16 | 52 | MBx125 | 138 | 5 | 14 | 7 | 40 | 55 | 9DP7 /8 15 | 14
350 565|405 | 20 | 64 | MOx15 | 5 | 7 | 77 | 8 | 50 | 66 | 11DP8 14 ] 19
263 oo | B[4 20 7 [woxis5 | | 7 [ 7|8 |60 | o[wopios 14 %] 1o
@80 71| 51| 25| 98 | M6x20 | 21 | 6 | 2 | 10 | 77 | n |750P135] 3/8 R
3100 845 | 605| 30 | 117 | MOx25 | 27 | 65| 27 | 12 | 94 | 11 |175DP135| 3/8 9| %
0125 | 10~100 | 115 | 83 | 35 | 42 | M2x25 | 80 | 11 | 32 | 16 | 114 | 125 |212DP184|  3/8 | 245 | 32

168 YPC




ua woiszn 55 92= YCQW

* 9IF 34

= = A
> 7128 (XIM HILHEE, ZLIAL
YCQW 2A-@12, @16, 320, @25-DM
Q_ Q 2-P(PT)
o lgwlly- p=
(D i (O
=T ™~ ' —\
[a)
, @ F| 8 G
~L 1 4 -
e N il 7 1
)i s \Q
[y c1 ct
Bl X X
M 4—@N Hole L1 B+Stroke L1+Stroke
E 8-00 A1+2(Stroke)
o1
QT Tap Dimension
3 = J-1& E= 2] ol R G | ov
N T o012 | M4x07 | 10 4 65
G| G| 216 | M4x07 | 10 4 65
R 020 | Mex10 | 1 7 9
B+Stroke 925 | Mex10 | 17 7 9
YCQW 2A-@32, @40, 350, @63, @80, @100, @125-DM
Bl -Q Q 2-P(PT)
) 2UZ K
MM
AN -
AT s e (N
5 k J e N \J VE
|
— | —
@ i
N\ i Ct
M 4-@N Hole X X
E J 8-0 L B+Stroke L1+Stroke
A1+2(Stroke)
of Tt Tap Dimension
EB g o1 R G aY
232 | MBx10 | 17 7 9
> >
a — - - & 240 | MBx10 | 17 7 9
g @50 | M8x125 | 22 8 1
aI—r | 18] 063 | MIOx15 | 285 | 105 | 14
R R 80 | MIOx15 | 355 | 135 | 175
B4Stroke @100 | M2x175 | 355 | 135 | 175
0125 | Miax2 | 434 | 184 | 212
2] o
FEUE AERIER) ) g | | g MM J| K[ M]|N 0 P Q| z [c| x| u|H|os
(mm) (mm)
o12 sog |B2[%2] 6 [25] M5x08 [ - | 5 |155[35] 650P4 | M5x08 [ 75| - [ 9 |i05[ 14 | 4 |8
216 57 | 26 | 8 20| Mex10 | - | 6 |20 | 35| 650P4 | M5x08 | 8 | — |10 | 12 |565] 5 | 10
220 sog | 63| 2 [10[36| Mxi25 | - | 8 |255]55| o0P7 | M5x08 | 8 | - [ 12| [B5] 5|1
225 % | 29| 12 |40 [ mox12s | - | 10| 28]55] 9DP7 | M5x08 | 95| - | 15 |175|225| 6 | 17
232 5100 LE5305] 16 |45 | Miaxi5 [45] 1 |34 |65] 90P7 118 90 | 14 |205|235| 85| 8 | 2
240 97 |40 | 16 | 52 | Max15 | 5 | 4 | 40 | 55| 9DP7 18 115 | 14 |205| 235|285 8 | 2
250 1075(405| 20 | 64 | Mi8x15 | 7 | 17 | 50 | 66 | 11DP8 1/4 1|19 | 26 [285]335] 11 | 27
263 oo |19 4 |20 |77 | mBxts | 7 |7 60| 9| uDPi05 1/4 1|19 | 26 |285]335| 1 | 7
280 188 | 51 | 25| 98 | M2xi5 | 6 | 22| 77| 11 |[w750P135| 3/8 16 | 26 |325|355|435| 13 | 32
2100 1475|605| 30 | 117 | M6x15 | 65| 27 | 94 | 11 |1750P135| 3/8 19 | 26 |325|355|435| 16 | 41
@125 | 10~100 |199| 83 | 35 | 42 | M30x15 | 1 | 32 | 114 | 125 |212DP184| 3/8 |245| 32 | 42 | 45 | 58 | 18 | 46

www.ypc.co.kr 169




* 9IF 314

> 712 (RH LHES, AL
YCDQW 2A-@12, @16, 20, @25-D

HDPC Q_ Q 2-P(PT)
1l
gj i Pary pard
V' V
L B+Stroke L+Stroke
A+2(Stroke)
2Tt Tap Dimension
> CETE o R G oY
S o2 | M&x07 | 10 4 | 65
S——"TT5 g6 | Max07 | 10 | 4 | 65
R R | 220 | MB6x10 17 7 9
BtStroke 225 | Mex10 | 17 7 9
YCDQW 2A-@32, @40, 350, 363, @80, @100, @125-D
HDPC Q Q. 2-P(PT)
e
AN 8§ HW€D T
&J e 3 3 \l%
oy
A
\N
K B+Stroke L+Stroke
M N Hole A+2(Stroke)
£ J 8-00
2t Tap Dimension
=T o R G oY
@32 | Mex10 | 17 7 9
o = 340 | M6x10 | 17 7 9
Q — - ¥ @50 | M8x125 | 22 8 1
D I ?63 | MOx15 | 285 | 105 | 14
-G_R‘ R.G_ @80 | MI0x15 | 355 | 135 | 175
@100 | M2x175 | 355 | 135 | 175
"
Lot o125 | MiAx2 | 434 | 184 | 212
2] o
FEUFE | AERIER |, g | | g H clJ|K|L|M|N 0 P Q| z
(mm) (mm)
212 s | 24[%4] 6 [ 25 [ Mex05 | 6 | - [ 5 [35]165]35][ 650P4 | M5x08 [ 75 | -
016 43 |3 | 8 | 20| Mix07 | 8 | - | 6 |35] 2 | 35| 650P4 | M5x08 | 8 | -
220 sos | 4738|1036 [ wsx08 |7 | -1]8 [45]255[55[ 90P7 | M5x08 [ 8 | -
025 9 | 39 | 12 |40 | Mex10 | 2 | - | 10| 5 | 28 |55| 90P7 | M5x08 | 95| -
232 soqo | P46]405] 16 | 45 | MBx125 | 13 |45 | 14 [ 7 | 34]65] 9DP7 18 99 | 1
240 64 | 50 | 16 | 52 | M8x125 | 13 | 5 | 4 | 7 | 40 | 55| 9DP7 1/8 15| 4
250 665|505| 20 | 64 | Mox15 | 15 | 7 | 17 | 8 | 50 | 66 | 1iDP8 1/4 1| 19
263 s | B8] 2 [20 [ 7 [moxis [ 657 [ [8]60 | o [10Pi05 1/4 1w | 19
280 81 | 61 | 25 | 98 | MI6x20 | 21 | 6 | 2 | 10 | 77 | 11 |175DP135 3/8 6 | 2%
2100 945 705| 30 | 17 | Moox25 | 27 [ 65| 27 | 12 | 94 | 11 [175DP135 3/8 19 | 2%
@125 | 10~100 | 115 | 83 | 35 | 142 | M2x25 | 30 | 11 | 32 | 16 | 114 | 125 |21.2DP 184 38 | 5| 32

170 YPC




ua woiszn 55 92= YCQW

* 9IF 34

= = A
> 712 (XHM LHEE, LI
YCDQW 2A-@12, @16, @20, @25-DM
Q_ Q 2-P(PT)
1CTI HIT
=T [~ ' —\
[a)
— 3w S Q C/
= ~NA | - —/
@ i
[P
| | N C1 C1
Bi1 X X
M N Hole L1 B+Stroke L1+Stroke
E 8-30 A1+2(Stroke)
01
QT Tap Dimension
3 = J-1& E= 2] ol R G | ov
N T o012 | M4x07 | 10 4 65
1G] G| 216 | M4x07 | 10 4 65
R R 020 | Mex10 | 1 7 9
B+Stroke 225 M6 x 1.0 17 7 9
YCDQW 2A-@32, 340, 350, @63, @80, @100, @125-DM
B Q Q_ 2-P(PT)
1C \ MM 2HZK
L AN - 2
/R N[ Ju g D S
) (u AN 2 9
vt A _/
@ m
raf \ C1 C1
M 4-@N Hole X X
E J Y L B+Stroke L1+Stroke
A1+2(Stroke)
of Tt Tap Dimension
CEgTEs o1 R G aY
232 | MBx10 | 17 7 9
> >
a — - -Fa 240 | MBx10 | 17 7 9
g @50 | M8x125 | 22 8 1
aI—r | 18] 063 | MIOx15 | 285 | 105 | 14
R R 80 | MIOx15 | 355 | 135 | 175
B4Stroke @100 | M2x175 | 355 | 135 | 175
0125 | Miax2 | 434 | 184 | 212
E ] o
REUE | ARRIE ) g gp | g MM J| K| M|@N 20 P Q| z|ct|x|u|H| Bt
(mm) (mm)
o1 sogp |[004]324] 6 |25 M5x08 [ - [ 5 [165/35] 650P4 | M5x08 [ 75| - [ 9 [f05] 14|48
216 67 36| 8 |20 | Mex10 | — | 6 |20 |35| 65DP4 | M5x08 | 8 | — |10 | 12 [155] 5 | 10
220 sog | |38 |10[36| M8x125 | - |8 [255/65| 9DP7 | M5x08 | 8 | - [ 12|14 |B5] 5|1
025 8439 | 12|40 | Mox125 | — |10 | 28|55 9pP7 | M5x08 | 95| - | 15 |175|225] 6 |
032 5100 | 975]405| 16 |45 | Wiaxts |45 14 | 34 [55] 9DP7 18 99 | 14 |205|235]285| 8 | 22
240 10750 | 16 | 52 | M4x15 | 5 |14 |40 55| 9DP7 1/8 15 | 14 |205]285|285] 8 | 2
250 1175(505] 20 | 64 | Mi8x15 | 7 | 17 | 50 |66 | 11DP8 1/4 1|19 |2 [285[385| 11 | 27
263 soi0o |19 |82 |20 [ 77| MBx15 [ 7 |7 60| 9 |14DP105 1/4 1 |19 | 26 |285[335] 11 | 27
280 48|61 | 25| 98| Me2x15 | 6 | 2|77 | 1t |ws50P15| 38 16 | 26 |325|355(435] 13 | 32
3100 1575|70.5| 30 | 117 | M26x15 | 65|27 |94 | 11 |[1750P135| /8 19 | 26 |325|355(435] 16 | 4
@125 | 10~100 |199| 83 | 35 |142| M30x15 | 11 | 32 | 114 | 125|212 DP 184 3/8 |245| 32 |42 |45 |58 | 18| 46

www.ypc.co.kr 171






